givamn faemea Rieras

qe-1
PE- 12 faw- e fagm=
PIS: 573
TqHg- 3 4¢ SferHan 3i®- 80
BOARD OF SCHOOL EDUCATION HARYANA
SET-1
Class- 12 Subject - Political Science
Code: 573
Time- 3 Hours Maximum Marks- 80
Wﬁ%ﬁ:
1. 99 0 IR US| # fquiiora g1
2. 40 9% & It Uy Sari § |
3. JIUf UTSUHH & 3MYR TR TN URIem ghftl

4. YTT-UH 1 3{ch & 20 TKIAY UDHR &b UH GHT |

5. YIS H 2 3fh o 8 31fdl 7Y IRI U g ford A i I 31idiah fadhed givt|
6. YTTT- I & 3 3/ & 8 U g1 Fora I fF & 31ialkes faswed i

7. Y- S H 5 3fh & 4 U 1N U9 G H 3fidRep fabey giT |

General Instructions:

1. The question paper is divided into four sections.

2. There are a total of 40 questions. All questions are compulsory.

3. There will be an annual examination based on the entire syllabus.

4. Part A will have 20 objective-type questions of 1 mark each.

5. Part B will have 8 very short answer questions of 2 marks each, out of which three will
have internal options.

6. Part C will have 8 questions of 3 marks each, out of which three will have internal choice.
7. Part D will have 4 questions of 5 marks each and all will have internal choice.

HIT-Y
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PART-A
Objectives type questions (One Mark Each)

1. "Iraia Wi F A A fHE SET S 82 (1)

&, SATERATd g%
@, 3cd fagRt arerodt
7. g THRPR WH

Y. IR F I DS Tl




1. Who is known as "Frontier Gandhi"?

A. Jawaharlal Nehru
B. Atal Bihari Vajpayee
C. Abdul Gaffar Khan
D. None of the above

2. TR FIYTE FAT8? (1)

&. SRS TG a1 Harsfi & yaTg R ufdsy
9. YR a3l a1 Y131l & YdTg IR ufdey
1. |7 §1H R ufdey

9. U fhU T A WR T

2. What are trade barriers?

A. restraint on the flow of international goods or services
B. restraint on the flow of Indian goods or services

C. Ban on the making of goods

D. Tags on the packed goods

3. 1957 A Hvd H fhy U &t IRPR T2 (1)

&, SHIY

9. YR SR gref
T. S

. gIRIfere gref

3.1In 1957, which party formed the government in Kerala?

A. Jana Sangh

B. Communist Party of India
C. Congress

D. Socialist Party

4. YA A fAPTT BT S A1 ATsd SYRT? (1)

%. IGRard digd
9. Yuitardt Alsd
7. ffgra sifeaw
9. Yoiidrg qaded Arsd

4. Which model of development was adopted by India?



A. Liberal model

B. Capitalist model

C. Mixed economy

D. Pro-capitalist model

5. Rrer wagiar frad dia gwaneia gan?

&, YRd-dH

Q. YR-UTfehd™=

. YRA-E9

Y. IRIgd | J PIs g

5. Shimla agreement was signed between?

A. India-China

B. India-Pakistan

C. India- Russia

D. None of the above

6. fors @t va e fban w2
. 2006
9. 2008
7. 2009
9. 2010

6. When was LTTE vanquished?

(a) 2006
(b) 2008
(c) 2009
(d) 2010

7. SIRIfa® HRIRE Ul ot wITIAT fba= ot <2

F. TMGHR A |
Q. e |

7. Ffdbar gga |
9. fernfe sga

7. The Bolshevik Communist Party was founded by

(a) Vladimir Lenin
(b) Stalin
(c) Nikita Khrushchev

(1)

(1)

(1)



(d) Leonid Brezhnev
8. HRd H 1975 H SUTAHTS b1 UINUN B dlel ATUTA BT TH T 67

8. What is the name of the president who proclaimed an emergency in 1975 in India?
9. THUATUD ol TRTAH aRau|
9. Write the full form of MNF.

10. 1999 ¥ 2004 TH TS IRBR BT TG DA UT?

10. Who was the head of the Coalition Govt from 1999 to 2004?
11. =9 H FHTSATE] hifd P g3

11. When did the Socialist Revolution take place in Russia?

12. FUTH U Al dizd ORI & §1?

12. When did Nepal become a democratic republic?

13. UTEH b & Y & faog e ila Guy o1 Aqw fora fbare
13. Who led the popular struggle against West Pakistani domination?
14. TASIY &1 1 44 62

14. What does the MDP stand for?

o = Wi

Fill in the blanks:

15. TG Y BT T I G....

15. The prime objective of the UN is..............

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)

16. Gféror TRMATE Hod IR JHN (THUUHAT) R ISR GRT ... Iy H gxeR fbu

M A?-

(1)

16. The South Asian Free Trade Agreement (SAFTA) was signed by the members in the year

Of cevieeeeenn,

17. 93T ATF WETURTG H ... AR R ......... SRUT T |

(1)



17. The UN Security Council has........... permanent and ............... non-permanent members.

(F:T— 41985 T JUUTHSIR H FURI DI YB3 D | (1)
18, e, initiated the reforms in the USSR in 1985.
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Assertion and Reason based questions:

Directions: In the following questions, a statement of Assertion (A} followed by a
statement of Reason, (R).

After reading the assertion and reason, select the correct Codes according to the Codes
given below

A. Both (A) and (R) are true, and (R) is the correct explanation of (A)
B. (A) and (R) are true, but (R) is not the correct explanation of (A)
C. (A) is true, but (R) is false.

D. (A) is false but (R) is true.

19. SFUFHYA: AU & ISHIID G 3R ST AT ISR B Th 31fed Jelt 3R ITRar!
IR =18 B

PHRT: IS A 1990 T U ASIgd didbad g9 3fiaier & HeAoR U U AlbdiAD e Bt
T WhR B ol (1)

19. Assertion: Political parties and the common people of Nepal have wanted a more open
and responsive system of government.

Reason: The king accepted the demand for a new democratic constitution in 1990, in the
wake of a strong pro-democracy movement.

20. 3P YA: Meiwrs T H YR gaf & T M 8, 3R YR & afird @l &1 39
3T HT HTH! Td1d ¢ fb HRA TRBR BT MciopT 7 affraf & Rl 31 & -t =gyl




HRUT: HRT WBHR A JHI-THT R dHd U9 IR Fidd] RHR I Fia<did B o1 gary foear

gl (1)

20. Assertion: The Sri Lankan problem involves people of Indian origin, and there is
considerable pressure from the Tamil people in India to the effect that the Indian
government should protect the interests of the Tamils in Sri Lanka.

Reason: The government of India has from time to time tried to negotiate with the Sri
Lankan government on the Tamil question.

YRT-§t
3fd AY IR UY (TP 2 3()

PART-B
Very Short Answer Type Questions [2 Marks Each]

21. YR T H ROl & ThIhRur § TR Ued gRT HHTS T YeT Sl g il (2)

21. Explain the role played by Sardar Patel in the integration of princely states into the Indian
Union.

22. Ueb i1y Yd Ud Ueb il ogaRyT # 3R Jisd |
31yt
U o 39 FATd! H B & U@ BT U101 B | 2)

22. Differentiate between one-party dominance and one-party system.
OR
Examine the dominance of Congress in the first three General Elections.

23. 1984-2004 T STolt! & IATA! UG H T 9Ga1d SHAT?

31yt

3IUHD G & RITw {1 B fobgi Gl geI3l o1 Ioeid Y Sl elicbeia o forg )
TR

23. What was change in electoral performance of BJP from 1984-20047

OR

Mention any two incidents of violence against minority community which are a threat to
democracy.

24. YR &1 73 3MH I Fd = P 132 TYHT T TRIHR B UT? )

24. When was India’s New Economic Policy launched? Who was its chief architect?



25. 3 B I F1UTE & O EU T & 1 i Hreft 82 )
25. What are the odds which limit the ability of EU?
26. YR = IRATCRT BT Mol foa™ § i 3R 9 Heg 2 )

26. Why did India help Bangladesh to get independence and how?

27. TG0 &1 b+ 3R TITaR0I F9M & I TRBR GRT 33T O aTdt Bl & HaH | (2)

27. Suggest any two steps to be taken by the government to check pollution and save the
environment.

28. 3sfipur & 3iffes ufvume o 2
3yar
JefieT & 1 Heayul & B I §7 €)

28. What are the economic consequences of Globalisation?
OR
What are two thrust areas of Globalisation?

YRT- 3t
Y S UY (AP 3 3iP)

PART-C
Short Answer Type Questions [3 Marks Each]

29. §EIEG o S Sfigie UR U Hignd fewoh ford| (3)
29. Write a short note on the people’s movement of Hyderabad.

30. "YRd & fft g =1 &t ga1 H agd wie- uRfRufaal § sreme freft " & &1 sifara
g wif

3yt
TfEg srdegawur @ g2 gula 3| (3)

30. “India got independence under very difficult circumstances rather than any other
country”. Justify the statement.

Or

What is a ‘Mixed Economy’? Explain.

31, o) o=t & 7 a1 87 1970 # 3”1 et 3 38 W R WR OIR [T fam 3)



31. What is meant by ‘Privy Purses’? Why did Indira Gandhi insist on abolishing them in
19707

32. f9gR W 1974 & B SfiGIei &b HRUI U1 Y SHicia H 5 YD AR Dl YfHehT TE
P

3yaT

1975 T 3TUTdehTd P °IYUN & GRUMH! BT Jedidh H | 3)

32 Explain the reasons for the student movement of 1974 in Bihar and the role played by Jai
Prakash Narayan in this movement.

OR

Evaluate the consequences of the declaration of emergency in 1975.

33. i AUt 1 A 1 ArgaTg W Yoliarg | URac d- BT I8 Jad 3] Rl UT?
31yar
Md gg o Tl H Aifqad srfcqawit &1 ! i faRiarsii &1 I He | (3)

33. What was Shock Therapy? Was this the best way to make a transition from communism
to capitalism?

OR

Mention any three characteristics of the Soviet economy during the Cold War days.

34. R &1 fohg! IR HE@yU! [ARINArsf &7 JuiE oY | 3)

34. Describe any four significant characteristics of ASEAN.

35. YR&T DT IRURS 3R TR-URURS YRONSH & oid 3R B | 3)

35. Differentiate between the traditional and the non-traditional notions of security.

36. TOTaRU &RU1 F1 A § Age & forg uafaruity siigiemt &t Yt Wy &Y | 3)

36. Explain the role of environmental movements to meet the challenge of environmental
degradation.

YRT- B
e ST vy [A® 5 3|

PART- D
Long Answer Type Questions [5 Marks Each]

37. 1 YRA B! fae ifd T Ao &= Xfad a7 Bt ST 3T BT ST 87 IaTeR0 &
IR TR 1971 & IR J& & HTHA TR YA IR Tehe HY |
31yt




foreft 1Y BT SHITAP Aga ITD! AR A BT HY THIfId F1 87 T HRA Bt [ Aifd &
JaTERUN 1 TR & JHSY | (5)

Q.37 Does India’s foreign policy reflect her desire to be an important regional power? Argue
your case with the Bangladesh War of 1971 as an example.

OR

How does the political leadership of a nation affect its foreign policy? Explain this with the
help of examples from India’s foreign policy.

38. & 3MThieM 3T T §H T Iah Ad o7

3far

aft & SHicIer! DI STTaATE! AT & forT A B DI AT ol 6" | JuIad
JCTBRUN SR HYT DI WY D] (5)

38. What lessons do we draw from the chapter Regional Aspiration?

OR

“All regional movements need not lead to the separatist demands”. Explain the statement by
giving suitable examples.

39. Tgad Y 7 Ay T 2ife 9 W= B 30+ ITRIAGRY 3 YfiresT &1 quf fafe wel do
forar? re &1 |

3{Ydl

YRA & ANIRG & =Y H, 31T JR&T TRYE B! R Jexdl & [0 YRd &1 SHIGAR] &1 [
THR JHI B2 30+ URAd BT SN g d1 | (5)
39. How far did the UN perform its role as successor fully in maintaining peace in the world?
Explain.

OR

As a citizen of India, how would you support India’s candidature for the permanent
membership of the Security Council? Justify your proposal.

40. f=gt ura gardl 1Al &1 SMTHT B e YR TR YR & aefieor &1 farty fasar i Tgt
g

31yaT

3BT BT oY BT FUHT TR T GHTT TSl 87 a0 B | (5)

40. Assess any five basics on which globalisation is being resisted in India.
OR
What is the impact of globalisation on a state’s sovereignty? Explain.



